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Q1. A child is suffering from a deficiency disease. He shows the following symptoms:       

(i)  Swelling of ankle, feet and belly     

(ii) Diarrhoea                          

(iii) Scaly skin                          

(iv) Mental retardation                  

            Identify the deficiency disease and the deficient nutrient in the child's body.             
A) 

Deficiency disease      Deficient nutrient 

Kwashiorkor     Proteins 

                
B) 

Deficiency disease        Deficient nutrient 

Goitre           Iodine             

                
C) 

Deficiency disease        Deficient nutrient 

Anaemia       Iron             

                
D) 

Deficiency disease        Deficient nutrient 

Rickets         Vitamin D         

 
Q2: Refer to the given groups (i)-(iii). Each group contains an odd member. Identify the odd ones in each 
group and select the correct option,                      

(i) Calcium Potassium Iodine Sodium 

(ii) Vitamin A Vitamin B Vitamin D Vitamin E                          

(iii) Oil Cheese Butter Ghee           

            
A)         

(i) (ii) (iii) 

Calcium Vitamin D Butter 

            
B)        

(i) (ii) (iii) 

Iodine Vitamin B Oil 

            
C) 

(i) (ii) (iii) 

Sodium Vitamin E Cheese 

            
D) 

(i) (ii) (iii) 

Potassium Vitamin K Ghee 
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Q3: Aarushi took two food samples X and Y in separate test tubes. She added 2-3 drops of Benedict's 
solution in food sample X and heated it while she added two drops of copper sulphate solution and 
few drops of caustic soda solution in food sample Y. She observed that sample X turned brick- red 
while sample Y turned purple. 
Which of the following is correct regarding X and Y? 
  
A) X consists of protein while Y consists of starch,                             
B) X consists of sugar while Y consists of protein.                          
C) X consists of starch while Y consists of protein,                            
D) X consists of sugar while Y consists of starch,   
 
Q4: Study the given table. 

Vitamin Source Deficiency 

B1 (i) Beri-Ber 

(ii) Carrot Night blindness 

D Sunlight (iii) 

C Orange (iv) 

            Select the correct option for (i), (ii), (iii) and (iv).             
A) 

(i) (ii) (iii) (iv) 

Milk A Scurvy Rickets 

                
B) 

(i) (ii) (iii) (iv) 

Milk E Rickets Scurvy 

                
C) 

(i) (ii) (iii) (iv) 

Whole grains A Rickets Scurvy 

D) 

(i) (ii) (iii) (iv) 

Whole grains A Scurvy Rickets 

 
Q5: Which of the following statements is/are incorrect? 

(i) Fats deposited in our body act as shock absorbers and protect us from injury. 

(ii) Kwashiorkor is caused by deficiency of protein, carbohydrate and fat. 

(iii) Roughage neither releases energy nor helps in tissue or body building. 

(iv) Starch containing food item turns bluish black in colour on undergoing iodine test. 

A) (i) and (ii) only   
B) (ii) only 
C) (iii) only          
D) (ii) and (iv) only 
 
Q6:  Given below are the four food components (P-S) and their corresponding sources. 

P - Meat, Fish, Egg 

Q - Butter, Ghee, Margarine 
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R - Bread, Biscuit, Potato 

S - Amla, Tomato, Orange 

Select the incorrect statement regarding them. 
A) Deficiency of P causes marasmus in children whereas deficiency of Q causes kwashiorkor in adults. 
B) Among P, Q, R and S, 1 gram of Q produces the maximum energy. 
C) Excess of R gets stored in body cells and is used for production of energy whenever required.      
D) Deficiency of S leads to a disease in which gums swell up and bleed.  
 
Q7:  Refer to the given Venn diagram and select the correct statement regarding X, Y and Z.  

A) Deficiency of X and Y causes night blindness and scurvy, respectively. 
B) X helps in the normal growth of bones in children while Y keeps 
reproductive system healthy.                    
C) Deficiency of Z causes pellagra i.e., vitamin complex.                   
D) Y is a group of several vitamins.   
 

Q8:  

Refer to the given flow chart.  

   

Identify X, Y and Z and select the incorrect option regarding them.  

 A) X is formed in leaves of plants during photosynthesis.                      
B) Z is essential for the normal functioning of thyroid gland.                     
C) Consumption of excess of Y can lead to obesity and heart related problems.  
D) Z helps in formation of haemoglobin in the body. 
 
Q9: Identify the figures (W- Z) and select the incorrect statement regarding 

these.  
A) W is a modified tap root which serves as a storage organ. 
B) Edible part of X is the same as edible part of onion. 
C) Y is a fruit which is eaten as a vegetable. 
D) Edible part of Z is the same as the edible part of potato. 
 
Q10:  Refer to the given dichotomous key and select the correct option. 

I. (a) It is categorised as energy giving food. - Go to II 

(b) It is categorised as protective food. - Go to III 

II. (a) It is soluble in water. - [P] 

(b) It is insoluble in water. - [Q] 

III. (a) It is needed for clotting of blood. - [R] 

(b) It helps in formation of haemoglobin. - [s] 
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A) Q could be glucose which is instant source of energy. 
B) Deficiency of S causes anaemia characterised by pale body colour, body fatigue etc. 
C) R causes osteoporosis in adults while S causes goitre in adults. 
D) P occurs in the cell wall of plant cells and in fibres. 
 

Answers: 

1. A  

Kwashiorkor is a deficiency disease caused by deficiency of protein in the diet. The child suffering from this 
disease becomes thin and weak. Skin becomes scaly and develops cracks, there is stunted growth and 
retarded mental development. Other symptoms of the disease include large pot like belly, swelling of feet 
and ankle, diarrhoea etc.     

2. B 

  Calcium, potassium and sodium are macrominerals as they are needed by the body in larger amounts 
whereas iodine is trace mineral as it is needed by the body in very small amount. Vitamin A, D and E are fat-
soluble vitamins while vitamin B is water soluble vitamin. Oil is rich in unsaturated fats while cheese, butter 
and ghee are rich in saturated fats.     

3. B 

4. C 

5. B 

Kwashiorkor is caused by deficiency of protein while marasmus is caused by deficiency of protein, 
carbohydrate and fat. 

6. A  

P is protein, Q is fat, R is carbohydrate and S is vitamin C. Deficiency of proteins causes kwashiorkor whereas 
marasmus is caused by deficiency of proteins along with carbohydrate. Marasmus occurs in children usually 
in infants below the age of 1 year and kwashiorkor occurs in children.    

7. B 

In the given Venn diagram X, Y and Z represent vitamin D, vitamin E and vitamin K, respectively. Deficiency of 
vitamin A causes night blindness and deficiency of vitamin C causes scurvy. Pellagra is caused by deficiency of 

vitamin B3. Vitamin B is a group of several vitamins like B1,B2,B3,B6,B12  and folic acid and is known 

as vitamin ; B complex.      
8. C 

In the given flow chart, X, Y and Z refer to carbohydrate, vitamin and mineral, respectively. 
9. D  

'W is the modified fleshy tap root of turnip which stores the reserve food material. 'X' represents garlic i.e. an 
underground stem modification. In both garlic and onion, fleshy scales are edible. Y is tomato, which is a fruit 
but is eaten as a vegetable. 'Z' represents wheat grains, which are edible seeds but in potato stem is edible. 

10. B 

According to the given dichotomous key P, Q, R and S could be glucose, cellulose, calcium and iron 
respectively. Goitre is caused by deficiency of iodine. Cellulose is complex carbohydrate occurs in the cell wall 
of plant cells and plant fibres. 

 


